Key to Exam III; F4360; Spring 2005; 1:00 Class


Note:  You should write down all equations needed to answer a question and fill in as many numbers as possible.

Example:  Step 1:  X = A + B = 1 + 3; Step 2:  Y = X/R = X/9  (Assuming you are given numbers for A, B, and R).  Alternatively, you could show your solution as:  Step 1:  X = A + B; Step 2:  Y = X/R; A = 1, B = 3, R = 9.
Short-answer questions/problems

Note:  If you write more than a couple of sentences on a short-answer question, you are likely writing too much.

1.  What keystrokes would you use in Excel to:  

a.  insert a worksheet. Alt + I + W
b.  paste special - formulas. Can only be used after a selection is copied or cut. Alt + E + S + F
c.  undo the last action performed. Ctrl + Z
2.  List (but do not discuss) two ways in which preferred stock is similar to common stock.

Two of:  no maturity, dividends not tax deductible,  lower claim than debt, no bankruptcy if don't pay dividends

3.  Assume you buy a bond that offers a yield to maturity of 10%.  Three things must happen for you to actually earn 10% on the bond.  List two of the three.

Two of:  hold bond to maturity, receive promised cash flows, and interest rates don't change
4.  How does the role of an investment banker differ if a stock is issued as a best effort rather than being underwritten?

In best effort investment banker accepts no price risk but sells at best possible price.  If underwritten, the investment banker does accept the price risk by specifying a price at which will buy the stock from the firm.

5.  List one of the two basic advantages of issuing stock using a shelf registration.
One of:  1)  firm can issue securities as need funds rather than all at one time, 2)  cheaper than traditional issue.

6.  Under the current tax code in the U.S., list one reason why might income taxes be less on equity income than on debt income?
One of:  dividends and capital gains may be taxed at a lower rate than ordinary income, companies can repurchase stock rather than pay dividends and only the gain is taxable.
7.  Assume that stockholder returns are untaxed, that bonds can be issued to investors with a 20% tax rate, and that the corporate tax rate is 35%.  Internet2 Fine is considering issuing bonds that promise to pay $100,000 per year forever to the bondholders rather than stockholders (who are currently receiving the cash flow).  How much will bondholders pay for these bonds?  How does this compare to the value of this cash flow to the firm’s stockholders?  Assume that all investors require an after-tax return of 10% per year.

Set up:  Value to bondholders = 
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Solve:  Value to bondholders = 800,000; Value to stockholders = 650,000

8.  According to the Pecking Order Theory, what kinds of firms will end up having less debt in their capital structure?
Highly profitable firms.
9.  By making some very restrictive assumptions, Modigliani and Miller were able to show the conditions under which the value of the firm does not change as it changes its capital structure.  Under these assumptions, Modigliani and Miller also showed what happens to the expected return on the firm’s stock if the firm changes its capital structure.  Briefly explain (a sentence or two) how issuing debt and repurchasing stock impacts the stockholder’s expected return and explain the basic source of this impact.  

Expected return rises as able to borrow at a rate that is below the expected return on the firm’s assets
10.  Assume that Modigliani and Miller’s assumptions (see 9) are correct.  What would you have to do in addition to investing your money in a firm that has no debt in its capital structure if you wanted to duplicate the risk and return you would achieve if you had invested in an otherwise identical firm that has debt in its capital structure?

Borrow on my own and invest the borrowed money in the firm with no debt
Problems/Essays

1.  Starbucks to Congress Inc. is considering investing in a new factory that produces lobbying results (an obscure but profitable product).  Starbucks usually uses its weighted average cost of capital when it is analyzing potential new investments.  However, Starbucks is concerned that the risk of producing lobbying results differs from its existing business of selling flavored caffeine.  Why is this concern valid (if it is)?  How would you recommend that Starbucks come up with an appropriate cost of capital for the project?  Why is this approach superior and what are the problems of this approach?  (Note:  a graph might help in answering this question).

It is a valid concern because the firm’s weighted average cost of capital is a valid discount rate only for projects with the same risk as the firm’s existing assets.  As the graph below demonstrates, the firm risks incorrect acceptance of projects with risk that exceeds that of the firm’s existing assets (region 2) and risks incorrect rejection of projects with risk that is less than that of the firm’s existing assets (region 1).




Recommendation:  use the weighted average cost of capital for other firms that produce lobbying results.

Advantages:  1) If the project has the same risk as the firms in the lobbying results industry, the weighted average cost of capital for those firms should be close to the required return on the project, 2)  the larger sample helps reduce small sample problems (errors offset).

Potential problems:  1)  new project for Starbucks may be riskier than the assets of established lobbying results firms, 2) approach is not possible if there are no comparable firms.

2.  Buffetted Industries Inc. has significantly less debt in its capital structure than other firms in its industry.  Discuss the conditions under which this would be optimal for the firm (feel free to draw and discuss a graph)?

Buffetted might have lower, less stable profits and cash flow than its competitors.  

This makes debt less attractive to Buffetted since it will have lower expected tax savings from debt

=> they are less confident of having enough profit to be able to deduct the interest for tax purposes.

Include tax graph for individual firm only.  On graph, firm’s 
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 graph will slop down more quickly (will not extend as far to the right) than the typical firm in the industry.

Lower, less stable profits and cash flows also increase the chance of bankruptcy and financial distress

=> debt is less attractive to Buffetted since for a given level of debt:  

=> the firm will have higher expected bankruptcy costs

=> a loss of confidence in firm is more likely so that costs are expected to be higher from lost sales, loss of best employees, higher interest rates

=> management will be more tempted to take a short-run perspective

=> management will be more distracted by potential bankruptcy so less likely to focus on maximizing value

Lower, less stable profits and cash flows also mean that there is more conflict between stockholders and bondholders

=> debt is less attractive to Buffetted since when firm issues debt they face:  more restrictive covenants and monitoring, more pressure to make debt convertible

Lower, less stable cash flow means there is less stockholder-manager conflict since management has less opportunity to:  1)  waste the cash flow and/or 2) avoid working as hard as might be the case if the firm had a strong cash flow

=> debt is not needed to help resolve these problems since there is less surplus cash flow for debt service to soak up.

Buffetted may have more intangible assets than the typical firm in the industry => debt is less attractive since their assets lose value more quickly in financial distress
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